EARAROBEEIERT — 2 N— IBISH —F

2019537280 (K) 28mEZ & E3H

m Ced vY7%—#f% ‘ [R&] B ‘ (el — | & (B) 14000 B
[AE4£] 1% :230,000” ~ 237%:58,000MH  33%&:28,000M”  437%&:18,000 H .~ 5 & :12,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o > B4 | AEBR 1:31.2 1-1-1-1 | 38.1| — 1 460 | AEED (BHE)
1 o | A>T —"TF 54.0 - (o) | KEFE
R4 LNT Ry IR B:aAYT4 TV ILIL, Y477 —L4
= " o = T hE :32. —4-3~ . — HWEORE (BHE)
olglo|Fr7—Tv K it 4 A 1(372)7 3-4-3-2 | 39.2 2 (4+620) g%gﬁ
LY LTAN—b BIRTAT2E8— AR K S
N FEREAR : 00— — AEEL (BEHE)
slzl 7| v1ENF T~ o4 | THRE S IR I
R:A-K7IF4~% B:T7rp4v¥—TLF Sl HR
= 3 4 4 | #1LEBAE 1:32.8 8-7-7-7 | 39.0| — 7 495 | ROFEE (BHE)
4(1)1|717B=7 56.0 (1/2) o | (B J PN
LiN—YT54 B:IANRINY— AFt FEI
L HS 44 | RZEiZE 1:32.9 6-5-5-4 |39.3| — 5 457 ek (BEHE)
5|55V 1>¥T X ¥¢55.0 (1/2) (-5 | EHETF
LG4 7 h7—EY B:OAYIAVYTAT ARXRETa—-T7—L4L
N SiEk .33. 24 . — MTEA (BHE)
N R o | 2am o T EO IR P
L—5—29 7 B:XTAING— b i cie ]
_ 4 5 | KIAHEE 1:33.9 10-10-10-10| 38.9 | — 10 462 |SRREX (BHE)
7 6| h—%=R .0 3) (+1) | SRR B
R:o2RYZYZXIZX HB:av3Aur7A4)—> Bllikie]
o . o4 | HHEA 1:34.2 9-9-8-6 |40.3| — 8 421 | AEER (BHE)
8 3 /7{ rj I’r o> 56.0 A 1/2) -5) i F
L:23—bAEY B:YRF—FTI— BRESH 72TV INL—
c o= e i 5 | EEH 1:34.2 7-8-9-9 | 40.3| — 9 | 435 |AHE (BHE)
9178 /\—t—7'7 N 54.0 (74%) (0) KESH%
L:Egr/sn7aqd BioA k=57 #HE ki
2 N 45 | BEEHE 1:34.3 5-6-5-7 | 40.7| — 6 435 | BHF (BER)
10[8[10| N7 2By ¥ A 6.0 ) Ciy | KERZE
Z:ao-I>JUr B:vrev BB
® 1—F—@EBIERL
13—7+— 2,7,9,4,10,5,8,1,3,6
2a=5F= 2,7,4,9,5,10,1,8,3,6
Ja=5= 2,7,9,4,(5,10),1,3,8,6
43—+ — 2,(7,9),5,4,3,(1,10),8,6
[ /N
B 2 140 714K 2-9 140H e E 2-8 280M JEE 2-7-9 430M
B B 2 1004 2-7 190H B = 2-9 340M EE 2-9-7 1,320
9 130H4 7-9 390M B H 2-9 360M
7 1609

ABICOVWTRDTEEERROODE. TR LIV,




